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a) X*+5%x-6=0 -l %6 =-(
(x=1) (7<+C;,)-o I+ 6. =5
X=1=0 or X+6=0

x= | X=-G
b) 4x + Qx2=0O C) HSx*-121=0
aQx*+4x =0 Bx-1D)ExHD=0
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x 8. The roots for +he cbmdmﬁ'c equﬁl'on
.44 0*+2.88a = 9!.6 =0
are a=3 and a=-5. 'U‘en'{-‘g these roots.
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6. Yolve €ach equation. State the
Solutions as eXact values.
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a=3, b=-G, C=-| a=1,b=8,c=3
x=-bt | b*-4ac x=-bTt |(b*4ac

& 2
x= ot )= 4@)C1) x= ~8* NRIHUX3)
2(3) L)
X= I \N36c+12 xX= -8+ JeH-12,
xX= X 48 xX=-8f\{5
G =
e can stophere (We can stop here

for rLou).‘ for Q?LOf
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